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Strategie von Hooke und Jesves
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0 0 9 - 2 2 Startpunkt
1 2 8 (0) Erfolg
2 2 M (1) MiBerfolg
P 2 7 (1) Erfolg
0 4 5 - 2 -2 Extrspolation
1 6 5 (4),(3) Erfolg, Erfolg
. 6 3 (5) MiBerfolg
. € 7 (5) MiBerfolg
0 10 3 - ,{5) 2 -2 Extrapolation, Erfolg
1 12 13 (8) MiBerfolg
1 & 3 (8) MiBerfolg
2 1M 1 (8) MiBerfolg
2 10 5§ (8) MiBarfolg
0 14 1 - 2 =2 Extrapolation
1 16 1 (13) MiBerfolg
T 12 1 (13),(8) Erfolg. MiBerfolg
2 12 -1 (15) MiBerfolg
2 12 3  {15) MiBerfolg
0 10 3 - 2 -2 Ricksetzung
1 12 3 (8) MiBerfolg
1 8 3 (8) MiBerfolg
2 10 1 (8) MiBerfolg
2 10 5 (8) MiGerfolg
0 10 23 “ 1 -1 Schrittweiten halbiert
1T 11 3 (8) MiBerfolg
1 9 3 (8) Erfolg
2 S 2 (23).(8) Erfolg. Erfolg
0 a 1 - 1 -1 Extrapolation



